2025 GERE(SHTERE) ] _F H T F P E E ] i} NI I _
4 H 5 H 6 A 7 A 8 H 9 H 10 A 11 H 12 H 1 H 2 3 H
1 |BERKEE INES-E3: 33 1 1 | EES%R 1 |EZ=4k%E 1 |z=exneammEer | 1 [£HELES 1[G RRRRRETES ] 1 |zH 1 1 |ERZKO
X BESE 7N H X & A 7K T B A |FiaiRE =| =|
2 | REARHE 2 [JSD () 2 (FEYFZDAE 2 2 2 |RESHEEK 2 [(RESHERK 2 2 [EESHERK 2 [BFK%AR 2 2
7K £ |RBREQ A 7k + N xerzmrmrszo | K =] X % A A
3 | BEREGEHR) | 3 |BiEiLEH 3 |ZESHK 3 3 3 3 [XILEEIGEE 3 [>tn H 3 (HERERNSSE 3 3 | BEESHK 3 | RESHERK
X T+ N X =] KxtrzErnrszeo | £ |BRITEEHE A 7K T+ X X
4 4 |HAEYDH 4 4 4 4 (\FxsEprsmis | 4 4 | RESHEK 4 4 4 4
& H K & A K [xerzmrmrsze | = PN /N H K 7K
5 5 |CEBLDHE 5 5 5 5 Bz 5 5 | EAEEFEK | 5 5 5 |FAIIERAR 5 |BRISHAR
+ A X T X £ |mrmEsnis =] 7K % A 7N N
6 6 [fEEAE 6 |NRHEZ 6 |EBRZKRD 6 mhaETHES| 6 |G e | [ip AR ~18 | 6 6 6 6 6
=| X i =] 7K T A |FEYHFZEDH 7N + X & £
7 |9zt 12m Lt 7 [ EEEAR~5/18 | 7 7 |sxxmats @ | 7 |RES 7 7 7 |EERE 7 7 | ERBE-BREBR 7 7 ([ZEEXFIT-%EE
A | Az K [inkngaze + A A H X & |EFREGER) | H 7k + o
8 AT F—3v | 8 8 8 8 8 8 8 [Goamy TOMREEREEIES | g 8 8 8 |zt
XS EEIE X H X i A 7K + A X =| =|
9 [NRT 9 [EEBRERES 9 9 9 9 9 9 [EBEZRQ 9 |[tEE 9 9 9 [REKRXBI/T
7K %= A 7K T X X H X i A A
10 |%18E#RE (1-34F) | 10 10 10 | S8 8 (F%&) 10 10 10 10 |ETEEA 10 | BB REERSE 10 10 10 |TTEIS
N T X X |BEEES = 7K & A 7K + X X
11 | ZEEX(ERM-4) 11 |PTASELEZ%E 11 [[BR&2 11 11 lu 8 17 11 11 11 11 11 |BEGEEnH 1 [HERHBEDH
£ [REED =| K £ A X [EEEISEHBE T PY X =| 7K K [ErE
12 12 12 £47= 12 12 12 12 12 12 |88 (%) 12 |BRADH 12 |nusmrsmaza~217 12
T A X EBEESE B T X & H 7K £ 1 25=2mH~12/16 | A R [BIEKRERER X
13 13 13 13 13 | 2T B 13 |z sppzxa~oe | 13 |RB—YDA 13 |FrLosszr@se | 13 13 |3HAth %R 13 13 [Bahamaatresom
=| X & H 7K + A 7N x X %= £ | BEEAEERK
14 14 | EHEFIT 14 |=p\dpEsxa~c16 | 14 [BES 14 |2 8EAT H 14 14 14 |#RSMEEFERQ | 14 14 |TTESR 14 14
A K T H R H X & H 7K + +
15 |ES 15 | R 15 15 | &EREFERTH 15 |2 8EAT B 15 [#ZDH 15 15 15 15 15 15
X X H X & A 7K + A X H =]
16 |2E2 1A% (& 1) 16 (EB) S %R 16 16 |BE S 16 |2 8BAT B 16 [REAREBI/13 16 |XIERF1T 16 16 | EES 16 16 16 | BEEBEEZM
K |S8H (F#&) 4 A 7K T X 7N =] X & A A
17 |2E2H5HE (E-5%) 17 B8 17 |IRER%xH6/14 17 |45 E 2R 17 17 17 | XL R #Efm 17 17 [Es2eERsE0 | 17 17 |ZASYDA 17 | BEEREEE
R [t T X x H 7K & H 7K T N Esnzassmans | N
18 |[BEd= 18 [EBEFwH 18 [lR&EAKXBH6/15 18 18 18 18 [T & 18 [{EEI= 18 |HhZEEQ) 18 18 |[TtES 18 | BEREREREK
g = 7K & A 7N + X [JS@ UIN) X H 7K K|BERE
19 19 |[#iREAKXB5/17 19 [7RAMERI~6/25 |19 19 19 |TTESR 19 19 |3EERSHE 19 19 |puskmesa~1/2 |19 | TANEM~2/26 |19
T )=| * e gpaska—~e250| w ﬁ H 7}( ﬁ )= * INp AT 47 RA— LB 7'(
20 20 20 | ES 20 |edkESAE~7/21 | 20 20 (goxEsEmtmE~o2s| 20 |HREMAEXHBE10/18 | 20 |7 RAMER~11/26 | 20 20 |EHSEH 20 20 (HHDH
H X £ [sEmse/sE~6/24 ERICIN:Iwi=D)) 7K * A Al pdrgravro—ne| N & €
21 [sBERES1E~425 | 21 |[REE 21 21 [0 H 21 (BE=E 21 21 ([Bm-Ea)EE 21 21 21 (BESE 21 21
A 7K + A X =| X pid =] 7K + T
22 (mESE 22 22 22 |miphmeEase | 22 22 |IRBAZRI/14 |22 |ES 22 (Gaamy  THMEREERIES | 9o | KB 22 |83 22 22
X 7N | X od B 7K + A 7N 5| =]
23 |34 B2 T ~4/25 23 23 ILERRE 23 |BiBkEBEE2ETE | 23 23 |#r D H 23 23 | RE D H 23 |2 HARE R 23 |Em—RB 23 | REHEH 23
K [mrE® & A 7K + X /N H X |mEss =2ae | £ A A
24 [ BERRAEER 24 24 24 | K&+ 24 24 |ERE 24 | R B R AE S 24 (REIKRB 24 (ZFKREH 24 24 24 [T AE—HAZE
7N T PN /N H K % A 7K T X X
25 25 25 (B E L% 25 | mm s 25 25 25 25 |3 = EEH 25 25 25 BB 4% 25
% = 7K £ |ZE 5% HE A X + X /N H K 7K
26 26 26 |FrLosT RO | 26 26 26 |ERE—RQ 26 26 |BE =& 26 26 26 |FrLooFab@1/22 | 26 (BT R -BEER
T A X + PN & 5| 7K & A K |#h:E3) X |REGSKRH
27 27 |BEHAIbAKRE 27 27 |EZ={K%H 27 27 27 27 |FxLosTa@1/25 | 27 27 (st 5420 27 | B REERTTE 27 |EERAZEH
=| X ® H 7K + A X [BE=F@EH + X £ |ZeaikH %=
28 | &RE/HLTFEY |28 |BESE 28 28 |E=FEHK~T1/31 | o8 28 28 | R EAR 24— L) PO — 28 28 28 28
A KIEFESIZELIE | £ A N H X £ | REeHAKRHE =| 7K + *
29 |BBFOID A 29 | ERAERSED 29 29 29 |22 HtR R 29 29 |BESE 29 29 |FERIKZE 29 | AEREERAS 29
X X =| X £ |ZE&8%H A 7K + A X =|
30 |mopgmmmaty s> | 30 [pEd ResagE |30 |EREERTE 30 30 30 | ERERSED 30 30 30 0 | ERERERTE 30
K |tuso zeann | 2 Fah 0 A |xk&aBAE 7k + -t 1= A = X £ | R&ABE A
31 31 31 N |EREERTE 31 31 31
T X 5| £ |"ReH%RE 7K T X
= 17 20 21 18 1 20 22 18 17 14 17 18
* 5 07) &5 (37) &5+ (58) &5t (76) &5 0T7) &t 97) &5t (119) i (137) &it(154) &5t (168) &5t (185) &5t (203)




